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1. If two conductors of resistances Ry & R, with resistance temperature coefficients oy & o, are joined
together in series, then the equivalent resistance temperature coefficient is .

(1) oqtoy
oq +dp

@ 5

@) e

(4) None of the above

2.  The change in temperature of body is 50°C, then the change in temperature on kelvin scale will
be: . '
(1) 70K (2) 20K (3 50K 4) 38K

3. Which of the following factors determine output from wind energy converter ?

(a) the wind speed
(b) the cross-section of wind swept by rotor
(c) the intensity of sun light

(d) the overall conversion efficiency of the rotor, transmission system and generator
Select the correct option :. - .. '
(1) (a) only (2) (@), (b) and (d) only

@ ©@only (4 (a), (b) and () only

. Light transmitted by nichol prism is :
(1) unpolarized _ (2) plane polarized
(3) circularly polarized (4) elliptically polarized

5.  Select the correct statements.

(a) Resistive force is directly proportional to the first power of velocity

(b) Translational motion is the result of a force

(c) Each particle of a rigid body has the same linear velocity in translational motion

(d) Linear velocities of the particles of the rigid body are not the same during rotational motion
around a fixed axis passing through it '

Select the correct option :

(1) (a) and (b) only (2) (a), (b) and (c) only

(3) (), (©) and (d) only @ @0 ©and@
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6. If T and 7 be the half life and mean hfe periods of radioactive nticlide, then the ratio of half life to
mean life period is . : . .
T T o T T '
— =039 - — =069 = =0.963 = = 0.93
1) — =039 2 - @ —= (4) — =096
7.  The current flowing through an electric bulb rated 120V, 60 Wis:
(1) 2A ) 72A (3) 05A @ 15A
8. ‘Re51stlv1ty of 1 cm long coppér wire is p; and 1000 cm long copper wire is P, having same cross
section area. Then : ' - '
1) py=p, 2 py>p, G) p<py (4) None of the above
9. Butanone is a four carbon-compound with the functional group :
(1)  Alcohol g - (2) Aldehyde
(3) Carboxylic acid | (4) - Ketone
10. Mathematical expression of Faraday’ 8 first law of eIECtIOIYSIS is
(1) W= Q,W ZxIxt, W=ZQ () W=Q W=ZxQ, WxQ
(3) WxQ W=Q W=ZxIxt (4) W=ZxIxt,W=ZxQ,WmQ
11.  Asyou go from left to right across a perlod on the periodic table there is decrease in :
(1) First ionization energy (2) Nuclear charge
(3)  Electronegativity : (4) Metallic character _
12.  Bleaching powder consists of : _
(1) Calcium Carbonate : (2) Calcium HypocMorite
(3) Calcium Sulfate . ~ {(4) Magnesium Carbonate
13.  Following is not allotrope of carbon.,

(1) Diamond (2) Fullerene '(3) Ferrocene (4). Graphite
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14. In the electrolysis of sodium chloride, molten sodium cﬁloride is kept molten at 600°C , below its .
" melting point of 808°C by addition of : . :

(1) Potassium chloride 7 (2) Magnesium chloride
(3) Calcium chloride (4) Lithium chloride

15. The correct Electronic configuration of Cu and Cut1, respectively are
(1) 3d10 4s0;3d%4s" (2) 3d° 4st; 3d° 48"
(3) 3d1 4s; 3d10, 4s0 - (4) 3d8 4sl; 3310, 450

16. Plaster of Paris consist of the following :
(1) Calcium Sulfate ' (2) Magnesium Sulfate
(3)- Calcium Carbonate (4) Magnesium Carbonate

17. Name the following pest which damages Onion and Garlic.
(1) Black moth (2) Bug . (3) Thrips (4) Saw fly

18. - Which of the following aerobic bacteria have ability to fix molecular nitrogen ?
(1) Derxia and Chromatium ' (2) Derxia and Beijerinckia '
(3) | Beijerinckia and Chlorobiumn (4) Chromatium and Chlorobium

19. Pyrethrine and Padom-A are
' (1) Synthetic, Organic insecticides  (2) - Imorganic insecticides
(3) Natural, Organic insecticides (4) None of the above

20. Who published system of classification in “Botanical Review” in 1980 ?
" (1) John Hutchinson (2) Arman Takhtajan
(3) Arthur Conquist - (4) Robert Thorne |

21. Which of the following tree contribute upto 50 kg Nitrogen per hectare per year ?
(1} Acacia auriculiformis (2) Casuarina equisetifolia

(3) Ficus religiosa ' (4) Azadirachta indica

el TS AR / SPACE FOR ROUGH WORK _ : PT.O.
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22. Name taxonomist who published Systema Naturae :
(1) Bentham and Hooker ) " (2) Carl Linnaeus
{(3) = Engler and Prantle 4) Arthur Cronquist
23.  Virachola isocrates is commonly known aé .
(1) Lemon butterfly {2) Pomegranate butterfly
(3) Fruitfly < (4) Psylla
24." In poisonous snakes which glands are modified to form poison gland ?
(1) Sebaceous gland (2) Ceruminous gland
(3) Salivary gland _ (4)  Endocrine gland
25. . Which of the following animals has Phylogenetic significance, as it serves a link between reptiles
and mammals ? R -
(1) Kangaroo (2) Echidna (3) Sorex (4 Rabbit
26.  Which phylum is the largest and most successful group of animal kingdom ?
(1)  Arthropods (2) Mollusca (3) Annelida (4) Coelenterata
27. Leptomonad form of Leishmania is found in : :
(1) man (2} sand fly (3) tsetsefly (4) bedbug
28. Match the following.

(a) Law of inheritance _ () T.M. Morgan

(b) m-RNA discovery (i) G.J. Mendel

(c) DNA double strand (i) Jacob and Monod
(d) Sex linkage ' (iv) Watson and Crick

Answer Options :

@ (b) (0 (@
1) @ @) @ (v
(2 @ ) @Gv) @
G) (v} () @ (i)
@ @ @ ) @
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29. Consider the following statements about viruses and select the answer from the order given
below :
(a) Viruses are obligatory parasites
(b) . Viruses are living organisms
(c) Viruses totally depends upon the host cells
(d) Viruses have their own enzyme systems
" Which of the above statements are true about viruses ?
Q) (@), () and (© @ (@) and (b)
(3) (@) () (© and (d) (4) (a) and (9

30. In class Pisces which fish is fast swimmer and viviparous ?

(1) Chimaera (2) Rohu {3) Scoliodon '(4) Silver Fish

31. The soil acidity and association of hydrogen and aluminium with soil colloids is ﬁiainly influenced
by two types of negative charges. These are :
(@) Permahent and pH dependent
(b) Residual and Active
() Organic colloids and inorganic colloids
Answer Options : ‘ :
(1) Only () (2) Only (b) (@) Only (0 @) (2)and (0

32. “Hidden Hunger” means
(1) Deficiency symptoms are seen when the nutrient is deficient
(2) Severe yield reduction may occur without appearance of deficiency symptoms
(3)' The nutrient is not deficient but aiaparently seems to be deficient

(4) Visual deficiency symptoms are suppressed by other elements

33. Crop logging is a method of
(1) Soil fertility evaluation
(2) Assessing crop damage
(3)  Plant analysis for assessing requirements of nutrients for crop production
(4) Testing suitability of fertilizers

FoA1 HHTATE TR / SPACE FOR ROUGH WORK PT.O.
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The soil forming process in which humus and sesquioxides become mobile, leach out from the
upper horizons and get deposited into lower horlzons, while silica remains accumulated in upper
horizon. '

(1) Calcification - | (2) Laterization
(3) Podzolization (4) Salinization
35. Highly salt resistant crop :

(1) Barley . . o (2) Beans -
(3) Wheat S (4) None of these

36. Which basic information is necessary to start the Watershed Management Programme ?
(a) - Data on rainfall
(b) Statistics of population and livestock
(c) Existing water sources like tank, well etc.
(d) Topography -

- Answer Options : .

(1) () only @ @and(only
(3) (a), (0) and (d) only 4) (), (), (9 and (d)

37. Which of the following are the ob]ectlves of all watershed management programmes ?
(1) To increase infiltration of rainwater into the soil
(2) To control damage by runoff
(3) To manage and utilize runoff for useful purposes
(4) All of the above

38, A terrace has a constant or variable grade along its length and used to convey the excess water at

a safe velocity is -
(1) Level terrace : (2) Graded terrace
(3) Bench terrace (4) None of the above

~39. Contour bunding is suitable for those areas, which receive the annual rainfall upto
(1) 800 mm . (2 1000mm . (3) 600 mm " (4) None of the above

~40.° Which was the first river Valley Corporation Project in India to take up soil conservation and the

relative activities on a statutory basis ? '
(1) Damodar Valley Corporation -(2) Krishna Valley Corporation

(3) e_Ganga Valley Corporation (4) None of the above

FHoAT FEETS AN / SPACE FOR ROUGH WORK
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41. Freshwater ecosystem may be
(1) Lotic : (2) Lentic
(3) (1) and (2) both " (4) None of the above
42. In an ecosystem, the flow of energy is
(1) Undirectional - (2) Bidirectional
(3) Multidirectional (4) Cyclic
43. How much percentage of P05 is present in single super phosphate ?
(1) 16% (2) 48% () 46% (@) 27%
44. Among the following which statement(s) is/are correct ? '
(a) Concentrated organic manures contain higher percentage of plant nutrients
(b) Concentrated organic manures are made from raw materials of animal or plant origin ‘
() The common concentrated organic manures are F.Y.M. and compost
Select the correct option : .
() Ony( = (2 Only() () @and(®) (@) (b)and ()
45. Which of the following pest produces dead hearts and white heads ?
(1) Leaf folder (2) Yellow Rice stem borer
(3) Rice case worm (4) Rice hispa
46. Anthrax disease of farm animals is caused by :
(1) Bacteria ' ' (2) Viruses
(3) Protozoan parasites (4) None of these
47.

The concentration of insecticide required to kill 50% test population experiment of insect is called

as . :

(1) RL50 2) LD50 G) 150 (4) KD50

F=AT FHAS AW / SPACE FOR ROUGH WORK
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Among the following, which statement is correct ?
(a) DDT was first discovered by Othmar Zeidler
{(b) Insecticidal property of DDT was proved by Paul Muller
Answer Options : |

(1)  Only (a) _ (2)  Only (b)
"(3) Both (a) and (b) (4) None of these
49. _isa complete parasitic weed having twiniﬁg, golden yellow wiry stems.
(1) Loranthus (2) Parthenium (3) Cuscuta (4) Striga
50 contains calcium oxalate crystals are packaged in raphides, arranged in bundles called
idioblasts.
(1) Dumb cane (Dieffenbachin) (2) Glorylily
(3) Areca palm |  (4) Alfa-alfa
51. is a treatment process that uses micro-organism to degrade hazardous substances .

into less toxic or non-toxic substances .
(1) Nitrification 7 (2) Salinization
(3) Bioremediation ' {4)  All of the above

52.

Which of the following is a secondary polutant ?
(1) Carbon monoxide ' (2) Smog
(3) Carbon dioxide (4) Sulphur dioxide

- 53,

Iron pyrites (FeS,) can have devastating m'lpact on the aquatlc environment because their oxidation
releases

54.

(1) Sulphuric acid (2) Hydrochloric acid
(3) Nitric acid (4) None of the above

river valley are the cradle of industrialization in Chotanagpur plateau region.
(1) Bearma and Sonar {2) Krishna and Koyna '

(3) Ganga and Hubli : (4) Damodar and Subernrekha
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55. The thickness of ozone in a column of air from the ground to the top of atmosphere is measured in

term of
(1) Pascal unit (2) Dobson unit
(3) Angstrom unit (4) Decibel unit

56. What is the full form of IPCC ?
(1) Intergovernmental Panel on Climate Change
(2) International Panel on Climate Change
(3) Intergovernmental Protocol on Climate Change
(4) International Panel on Climate Conservation

57. Match the pairs :

Wild animals Scientific name
(a) Chinkara (i)  Tetracerus quadricornis
(b) Black Buck (i) Gazella bennettii
(¢) Chowsingha (iii) Boselaphus tragocamelus
(d) BlueBull (iv) Antilope cervicapra

Answer Options :

(@ () () (@
M @ v @ )
() G (v) @) ()
G) @) @ @ @)
@) () @v) @ @)

58. The pregnancy diagnosis in Elephants can be made on the basis of following :
(a) Elevated level of estrogen after 10 weeks
(b) Prostaglandin level increased at 3 to 8 weeks
(c)  Prolactin rises 200-600 times higher during 4-6 months
(d) Ultrasonography after 15 days
Answer Options :

1) (a) & (b) (2) () only
(3 (d)only 4) @ () () & (d)

FA1 FHE AFT / SPACE FOR ROUGH WORK . ‘ PT.0.
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59. The digestibility of colostrum increases when it is given at temperature between
(1) 79°F and 82°F (2) 89°F and 92°F
(3) 99°F and 102°F (4) 109°F and 112°F

60. Match the following :

Breed Origin (state)
(a) Khariar (i) Uttar Pradesh
(b) Kherigarh (i) Karnataka
(¢) Krishna valley (i) Tamil Nadu
(d) Kangayam (iv) Odisha

Answer Options :

@@ (b) (o) (d)
(1) @Gv) @ @ ()
2 @ O @ ()
@ @@ ) @O @
4 Gv) @) @) @

61. The wood of tree species is used in pencil industry.

(1) Adina cardifolia (2) Abies pindrow

(3) Toona ciliata (4)  Juniperus virginiana
62. Drugs are obtained from the of the plants.

(1) Roots (2) Bark

(3) Leaves (4) All of the above parts

63. Which essential oil is having a maximum export ?
(1) Pepper mint (2) Japanese mint
(3) Berga mint (4) Spear mint

64. Jute fibre is seperated in pools of stagnant water from the stem by a process of :

(1) Crushing (2) Calendering
(3) Retting (4) None of the above

FT TR TN / SPACE FOR ROUGH WORK
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Salai gum is the product of ‘ .
(1) Boswellia serrata (2) Bauhinia retusa
{3) . Anogeissus latifolia (4) Sterculia urens

66.

The important species of a fresh water swamp forest is :

(1) Avicennia sp. (2) = Barringtonia sp. (3) Brugeriera'sp.  (4) Muyristica sp.

67.

Height growth in forest plants takes place rapidly during night or in shade because :
(é) growing axis is stimulated by low light intensity

(b) more nutrition is available during night or in shade

Which of the above is correct ? |

(1) Only (a) B (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

68.

Shorea robusta is found in forests.

1) Tarai - 2)  Siwalik 3)  Khasi hill 4)  All the above -
(1) (

69.

Miyawaki forest is grown by planting several species of plants in very close spacing. The major
interaction that helps form this forest rapidly is . '

(1) Mutualism - (2) . Parasitism (3) Comensalism (4) Competition

70.

The effect of aspect is more pronounced in Himalayan hill ranges than in hills situated in Southern
India because of effect.

(1) Pole {2) Elevation (3) Wind (4) Equator

71.

Sahyadri Tiger Reserve comprises of :

(@) Radhanagari wildlife sanctuary

(b) Chandoli National park

{c) Koyna wildlife sanctuary

Which of the following options completes the sentence correctly. ?
(1) All @), (b), (2) Only (a) and (b)

(3) Only (b)and (c) (4)  Only () and (¢

FeAY FHAA AT / SPACE FOR ROUGH WORK o : PT.O.
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72, India has a treaty with _ country to protect migratory birds.

" (1) China (2) Iran (3) USSR (4) Japan
73. Which of the following statements about Manas national park is/are true ?

(a) It is situated in Arunachal Pradesh
(b) It supports good rhino population

- {c) ‘Some rhinos were relocated there in early 2019

Answer Options :

1) Al (a), (b), ) | " (2) Only(a) and (b)
(3) Only (a) and (c)- » (4) Only (b) and ()

74.

If arranged from oldest to newest, which of the following sequences is correct ?
(1) Tadoba - Pench - Sanjay Gandhi
(2) Tadoba - Sanjay Gandhi - Pench

. (3) Sanjay Gandhi - Tadoba - Pench

4) Sanjav Gandhi - Pench - Tadoba |
jay .

75.

The Chief Wildlife Warden can grant to any persoﬁ a permit to enter a sanctuary for which of the
following purpose ?

(a) Photography

) Scientific research
(c) Tourism

Answer Options :

(1) None of these () Only (@) and (b)
(3) Only (b) ; (4) Allof these :

76. The joinf forest management can effectiveiy promote activities.
(1) NTEFP collection o (2) Conservation of medicinal plants
(3) Eradication of Alien species (4) All the above

77.

Which of the following effects of trees on agricultural crops are important in agroforestry ?
(a) Competition | : '
(b) Microclimate modification

() Nutrient cycling

Answer Options : o -

(1) Only (b) . (2) Only (a) and (b)

(3) Only (a) and (c) ‘ (4) All the above

Fo FHTAIS T / SPACE FOR ROUGH WORK
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78. Agroforésh‘y system where component stay together for some part of life. .
(1) Coincident (2) - Concomitant (3) Intermittent (4) Interpolated
79. How many ex—officid members do the JFMC/EDC have ?
M 1 (2 2 @ 3 4 4
80. Consider following statement :
(a) Agroforestry system is a specific local example of an Agroforestry practice
" (b} ‘Agroforestry practice is a specific local example of an Agroforestry system
In this context, which of the fblIowing option is correct ?
(1) - Both true (2) Only (a) true  (3) Only (b) true  (4) None true
81. State government can alter the boundaries of a wildlife sanctuary. But this can be done on
recommendation of _ according to wildlife (protection} Act, 1972.
(1) State Board for Wildlife
(2) National Board for Wildlife
(3) National Tiger Conservation Authority
(4) Wildlife Crime Control Bureau
82, Indian Forest Act 1927 was amended in 2017 to omit the word “bamboo’ from clause(7) of
section 2. This amendment changed the definition of
(1) Timber  (2) Tree (3) Shrub ' (4) Palm
83. Who is the Ex-officio Director of the Wildlife Crime Control Bureau ?

(1) . Director of Wildlife Preservation
(2) Inspector General of Police
(3) Inspector General of Forests

(4) Director General of Forests

T FHTHIS AT / SPACE FOR ROUGH WORK | o . PT.O.
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84. Snake venom is required for manufacture of life-saving Antivenom. In this regard, which of the
following statements are correct as per wildlife (protection) Act, 1972 ?
(@) Only government agency can collect snake venom. E
(b) Anyone interested in collecting snake venom can apply for licence.
(c) Chief Minister issues the licence.
Answer Options : :
(1) All (a), (b) and () (2) Only (b)
(3) Only (b) and () @) Only (a) and (9
85. The first attempt for asserting state monopoly right over forest was made through an Indian Forest.
- Act of. : ‘ :
(1) 1857 (2) 1865 (3) 1878 - (4) 1827
~ 86. The Centre for International Forestry Research (CIFOR) is located at :
(I) Bogor, Indonesia ‘ (2) Yokohama, Japan
(3) New Delhi, India (4) Rome, Italy
87. International Union for Conservation of Nature (IUCN) has the priority areas of :
(a) Work-biodiversity and climate change -
(b) Sustainable energy
(<) Human well-being and green economy
(d) To defeat hunger and poverty
- Answer Options :
(1) (a), (b) and (d)- (2) (a), (b) and ()
(3) (b), (0) and (d) (4) All(a), (b), (c) and (d)
88, The First World Climate Conference was held at Geneva, Switzerland on :
‘ (1) 12 - 23 Feb. 1979 - (2) 14 Aug. - 4 Sept. 2009
(3) 29 Oct. - 7 Nov. 1990 (4) 1-10 Jan. 1982
89. Match the pair : -
(@) Institute of Wood Science and Technology (IWST) - (i) Jabalpur
(b}y Tropical Forest Research Institute (TFRI) : (i) Ranchi
(c) Arid Forest Research Institute (AFRI) , (i) Bengaluru
(d) Institute of Forest Productivity (IFP) - (iv) Jodhpur

Answer options ;-

@ 0 9 @
1) @ o 6 @
@ @ @O @) @w
@) @ @ @ @
@ @ @) @ w

FAT TS AT / SPACE FOR ROUGH WORK
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90. Which one of the following is not the autonomous organization of Ministry of Environment and
Forest, New Delhi ?

(1) Govind Ballabh Pant Institute of Himalayan Environment and Development, Almora.
(2) Indian Institute of Forest Management, Bhopal.

(3) Wildlife Institute of India, Dehradun.

(4) Indira Gandhi National Forest Academy, Dehradun.

91. Match the pairs :

Remote Sensing satellite Country of Origin
(a) Resource sat (@) India
(b) SPOT (i) France
{c) Radarsat (iii) Canada
(d) IKONOS (ivy US.A.

Answer options :

@@ (b) () (d)
O © (@) Gv) ()
2 @) (@) @ @
@) @v) @ @) @)
(4) @ @) @) ()

92. The preferable topographical map for higher Resolution Satellite image interpretation has a scale

of :
(1) 1:50,000 to 1 : 11,50,000 (2) 1:50,000 to 1 : 2,00,000
(3) 1:50,000 to1: 250,000 (4) 1:50,000 to 1 : 3,00,000

93. Which of the following statements are correct ?
(@) Concept of Biodiversity hotspots was given by E.O. Wilson.
(b) Biodiversity hotspots have high endemism of plant species.
(c)  All Biodiversity hotspots are located in tropical region.
Answer Options : ,
(1) Al @), (), © (2) Only ()
(3)  Only (b) (4) Only (c)
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94. Anthropogenic threats leading to extinction of species and consequent loss of biodiversity is/are :
(a) Habitat loss and fragmentation
(b) Introduction of non-native species
(c) Disturbance and pollution
(d) Over exploitation of natural resources
Answer Options :
(1)  (a), (b) and () (2)  (b), (c) and (d)
(3) (a) (b), (c) and (d) (4) () and (d) only
95. The diversity is the measure of rate of extent of change in species along a gradient
from one habitat to another.
(1) Alpha (2) Beta (3) Gamma (4) Theta
96. Which of the following were implemented during the decade 2011-20 ?
(a) United Nations Decade on Biodiversity
(b) Aichi Biodiversity Targets
Answer Options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) {4) Neither (a) nor (b)
97. Primitive varieties which have evolved over centuries through both natural and artificial selection
and cultivated by farmers, are referred as .
(1) Modern cultivors (2) Landraces
(3) Wild species (4) Obsolete varieties
98. Match the following :

(a) Indigenous people (i) Vanyajati
{(b) Primitive people (if) Vanvasi
(c) Inhabitant of forest (i) Adimjati
(d) Caste of forest (iv) Adivasi

Answer options :

(@ (b) (9 (d)
1 O @ @ @)
(@ @ @ @ @
@ @ ) @ @
@ (v @) @ @
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99. Heterosis can be fixed through :
(@) Vegetative propagation
" (b) Apomixis
(c) Male sterility
(d) Balanced lethal system
Answer Options :
(1) (@) and (b) only
(3 (@) () and (@) only

19 A 715

(2) (@) and () only -

(4)  (a), (b) and (d) only

100. Match the foﬂowing pairs :
(a)  Father of plant tissue culture

() Guha and Maheshwari

(b) Development of plant tissue culture media - (i) Gottlieb Haberlandt

(c)  Production of first haploid embryos from pollén grains (iii) Muier et al

(d) First plant from single cell
Answer options :

@ ) © (9
M O @ @) @
(@) ) @) @) @
(3 @ Gv) @ ()
@  v) () @) @

(iv) Murashige and Skoog
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 PETET S B $TE J BT HOATS RAW B AE, S HAS WES T TTET SHGAET A A
o “afieriTed ST AT TiiEy FTAEETY SfEH-82" ARie TgAgaR BT B A48T
T T S HHE TH IO BIOAEAT STfer/ A T98 U% T @HeT STl g U eEe.

(9) W& WeTuBRRES T fafta 3 do duwEFaY AT & GegRAET |- a0EY TimaE g%
VIR TR ST, W YA AR A Sear SR SRR S~ TR 1 R T R St

| TG A
Pick out the correct word to fill in the blank: g
QNo. 201. i congratulate you your grand success.
(@D for . (2) at
(3 on (4) about

| & AT Fr S ¢3) on” @ T, arrgﬁmuamﬁw @y . AT WIOEHEr
997 %. 201 TS Sa-wEE () %a@yﬁﬁmﬁmmwﬁﬁm&waﬁ

w20 D Q@ @ @ |
wnqﬁ%w@amﬂgﬁaﬁﬁmmwwwmawmmwmm&hﬁa
wmmmwﬁaagawmmw TR TRl el S Ho I,

ES T TEA W IWE .
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